Week 14 Home Work Solutions

EXERCISE 19-3 (15–20 minutes)

(a)
Taxable income for 2007
$405,000


Enacted tax rate
        40%

Income tax payable for 2007
$162,000
	(b)
	
	Future Years
	

	
	
	2008
	2009
	Total

	
	Future taxable (deductible) amounts
	$175,000
	$175,000
	$350,000

	
	Tax Rate
	        40%
	        40%
	

	
	Deferred tax liability (asset)
	$  70,000
	$  70,000
	$140,000


EXERCISE 19-3 (Continued)


Deferred tax liability at the end of 2007
 
$140,000


Deferred tax liability at the beginning of 2007

    92,000


Deferred tax expense for 2007 (increase


    required in deferred tax liability)

48,000


Current tax expense for 2007

  162,000


Income tax expense for 2007

$210,000


Income Tax Expense

210,000



Income Tax Payable


162,000



Deferred Tax Liability


48,000

(c)
Income before income taxes

$525,000


Income tax expense


Current
$162,000


Deferred
    48,000
  210,000

Net income

$315,000

Note to instructor: Because of the flat tax rate for all years, the amount of cumulative temporary difference existing at the beginning of the year can be calculated by dividing $92,000 by 40%, which equals $230,000. The difference between the $230,000 cumulative temporary difference at the beginning of 2007 and the $350,000 cumulative temporary difference at the end of 2007 represents the net amount of temporary difference originating during 2007 (which is $120,000). With this information, we can reconcile pretax financial income with taxable income as follows:


Pretax financial income
$525,000



Temporary difference originating giving rise



    to net future taxable amounts
 (120,000)



Taxable income
$405,000

EXERCISE 19-6 (10–15 minutes)

(a)
(2)
(e)
(2)
(i)
(3)*

(b)
(1)
(f)
(2)
(j)
(1)

(c)
(3)
(g)
(3)
(k)
(1)

(d)
(1)
(h)
(3)

*When the cost method is used for financial reporting purposes, the dividends are recognized in the income statement in the period they are received, which is the same period they be must be reported on the tax return. However, depending on the level of ownership by the investor, 70% or 80% of the dividends received from other U.S. corporations may be excluded from taxation because of a “dividends received deduction.” These tax-exempt dividends create a permanent difference.

EXERCISE 19-7 (10–15 minutes)

(a)
greater than

(b)
$190,000 = ($76,000 divided by 40%)

(c)
are not

(d)
less than

(e)
benefit; $15,000

(f)
$3,500 = [($100,000 X 40%) – $36,500]

(g)
debit

(h)
$59,000 = ($82,000 – $23,000)

(i)
more likely than not; will not be

(j)
benefit

	PROBLEM 19-2


(a)
Before deferred taxes can be computed, the amount of temporary dif-ference originating (reversing) each period and the resulting cumulative temporary difference at each year-end must be computed: 
	
	2007
	2008
	2009
	2010

	Pretax financial income
	$280,000
	$320,000
	$350,000
	($(420,000

	Nondeductible expense
	    30,000
	    30,000
	    30,000
	(    30,000)

	Subtotal
	310,000
	350,000
	380,000
	(  (450,000

	Taxable income
	  180,000
	  225,000
	  270,000
	(   580,000

	Temporary difference originating (reversing)
	$130,000
	$125,000
	$110,000
	(

$(130,000)


PROBLEM 19-2 (Continued)

	
	Cumulative Temporary Difference At End of Year
	

	2007
	$130,000
	

	2008
	$255,000
	($130,000 + $125,000)

	2009
	$365,000
	($255,000 + $110,000)

	2010
	$235,000
	($365,000 – $130,000)



Because the temporary difference causes pretax financial income to exceed taxable income in the period it originates, the temporary difference will cause future taxable amounts.


Taxable income for 2007
$180,000


Enacted tax rate for 2007

35%

Current tax expense for 2007


    (Income tax payable)
$  63,000

2007


Income Tax Expense

108,500



Income Tax Payable


63,000



Deferred Tax Liability


45,500


The deferred taxes at the end of 2007 would be computed as follows:

	Temporary Difference
	Future Taxable (Deductible) Amounts
	Tax Rate
	Deferred Tax

	
	
	
	(Asset)
	Liability

	Depreciation
	$130,000
	35%
	
	$45,500



Deferred tax liability at the end of 2007
$45,500


Deferred tax liability at the beginning of 2007
           0 


Deferred tax expense for 2007 (increase in


    deferred tax liability)
$45,500

Deferred tax expense for 2007
$  45,500


Current tax expense for 2007
    63,000

Income tax expense for 2007
$108,500
PROBLEM 19-2 (Continued)


2008


Income Tax Expense

    6,500*



Deferred Tax Liability


  6,500



    (To record the adjustment for the



     increase in the enacted tax rate)


Income Tax Expense

140,000



Income Tax Payable


90,000



Deferred Tax Liability


50,000



    (To record income taxes for 2008)


*The adjustment due to the change in the tax rate is computed as       follows:


Cumulative temporary difference at the end


    of 2007
$130,000


Newly enacted tax rate for future years

40%

Adjusted balance of deferred tax liability


    at the end of 2007
52,000


Current balance of deferred tax liability
    45,500

Adjustment due to increase in enacted tax rate
$    6,500

Taxable income for 2008
$225,000


Enacted tax rate

40%

Current tax expense for 2008 (Income tax payable)
$  90,000

The deferred taxes at December 31, 2008, are computed as follows:

	Temporary Difference
	Future Taxable (Deductible) Amounts
	Tax Rate
	Deferred Tax

	
	
	
	(Asset)
	Liability

	Depreciation
	$255,000
	40%
	
	$102,000



Deferred tax liability at the end of 2008
$102,000


Deferred tax liability at the beginning of 2008


    after adjustment
    52,000 


Deferred tax expense for 2008 exclusive of


    adjustment due to change in tax rate (increase


    in deferred tax liability)
$  50,000
PROBLEM 19-2 (Continued)


Deferred tax expense for 2008
$  50,000


Current tax expense for 2008
    90,000

Income tax expense (total) for 2008, exclusive


    of adjustment due to change in tax rate
$140,000

2009


Income Tax Expense

152,000



Income Tax Payable


108,000



Deferred Tax Liability


  44,000


Taxable income for 2009
$270,000


Enacted tax rate

40%

Current tax expense for 2009 (Income tax payable)
$108,000

The deferred taxes at December 31, 2009, are computed as follows:

	Temporary Difference
	Future Taxable (Deductible) Amounts
	Tax Rate
	Deferred Tax

	
	
	
	(Asset)
	Liability

	Depreciation
	$365,000
	40%
	
	$146,000



Deferred tax liability at the end of 2009
$146,000


Deferred tax liability at the beginning of 2009
  102,000 


Deferred tax expense for 2009 (increase in


    deferred tax liability)
$  44,000

Deferred tax expense for 2009
$  44,000


Current tax expense for 2009
  108,000

Income tax expense for 2009
$152,000

2010


Income Tax Expense

180,000


Deferred Tax Liability

  52,000



Income Tax Payable


232,000


Taxable income for 2010
$580,000


Enacted tax rate

40%

Current tax expense for 2010


    (Income tax payable)
$232,000
PROBLEM 19-2 (Continued)


The deferred taxes at December 31, 2010, are computed as follows:

	Temporary Difference
	Future Taxable (Deductible) Amounts
	Tax Rate
	Deferred Tax

	
	
	
	(Asset)
	Liability

	Depreciation
	$235,000
	40%
	
	$94,000



Deferred tax liability at the end of 2010
$  94,000


Deferred tax liability at the beginning of 2010
  146,000

Deferred tax benefit for 2010 (decrease in


     deferred tax liability)
  $(52,000)

Deferred tax benefit for 2010
 $(52,000)


Current tax expense for 2010
   232,000

Income tax expense for 2010
 $180,000
(b)
2008


Income before income taxes
$320,000


Income tax expense



Current
$90,000



Deferred
  50,000



Adjustment due to change in tax rate
     6,500
  146,500

Net income

$173,500

	PROBLEM 19-8


(a)

	Temporary Difference
	Future Taxable (Deductible) Amounts
	Tax Rate
	Deferred Tax

	
	
	
	(Asset)
	Liability

	Depreciation
	$(40,000)*
	40%
	$(16,000)
	



*(Computation shown on next page.)


Other assets (noncurrent)


Deferred tax asset
$16,000


This answer may differ from what is expected. Usually, depreciation is faster for tax purposes; in this situation, there is excess depreciation for book purposes in the first year for depreciation (2006).

(b)
Income Tax Expense

124,000


Deferred Tax Asset

  16,000



Income Tax Payable


140,000


$140,000 taxes due for 2006 ÷ 40% 2006 tax rate = $350,000 taxable income for 2006.


Taxable income for 2006
$350,000


Tax rate

40%

Income tax payable for 2006 (also given data)
$140,000

Deferred tax asset at the end of 2006
$  16,000


Deferred tax asset at the beginning of 2006
             0

Deferred tax benefit for 2006 (increase in


    deferred tax asset)
   (16,000)


Current tax expense for 2006 (Income tax payable)
  140,000

Income tax expense for 2006
$124,000
PROBLEM 19-8 (Continued)

(c)
Income before income taxes


$310,000a

Income tax expense



Current
$140,000



Deferred
   (16,000)
  124,000

Net income


$186,000


aPretax financial income
   $
X



 Excess depreciation per books
    40,000b


Taxable income [from (b) above]
$350,000

Solving for X; X + $40,000 = $350,000; X = $310,000 pretax financial income.

	
	Book Depreciation
	Tax Depreciation
	bDifferenceb

	2006
	$  80,000
	$  40,000*
	($40,000

	2007
	80,000
	80,000
	0

	2008
	80,000
	80,000
	0

	2009
	80,000
	80,000
	0

	2010
	80,000
	80,000
	0

	2011
	            0
	    40,000
	(  (40,000)

	Totals
	$400,000
	$400,000
	($         0



*($400,000 ÷ 5) X .5

(d)

	Temporary Difference
	Future Taxable (Deductible) Amounts
	Tax Rate
	Deferred Tax

	
	
	
	(Asset)
	Liability

	Depreciation
	$  (40,000)
	40%
	$(16,000)
	

	Unearned rent
	(75,000)
	40%
	(30,000)
	

	Unearned rent
	    (75,000)
	40%
	  (30,000)
	

	
Totals
	$(190,000)
	
	$(76,000)
	


	
	Temporary Difference
	Resulting Deferred Tax
	Related Balance Sheet Account
	Classification

	
	
	(Asset)
	Liability
	
	

	
	Depreciation
	$(16,000)
	
	Plant Assets
	Noncurrent

	
	Unearned rent
	(30,000)
	
	Unearned Rent
	Current

	
	Unearned rent
	  (30,000)
	
	Unearned Rent
	Noncurrent

	
	
Totals
	$(76,000)
	
	
	


PROBLEM 19-8 (Continued)


Current assets



Deferred tax asset
$30,000


Other assets (noncurrent)


Deferred tax asset
$46,000c

c$30,000 + $16,000 = $46,000

(e)
Income Tax Expense

52,000


Deferred Tax Asset

60,000



Income Tax Payable


112,000


$112,000 taxes due for 2007 ÷ 40% 2007 tax rate = $280,000 taxable income for 2007.


Taxable income for 2007
$280,000


Tax rate for 2007

40%

Income tax payable for 2007 (also given data)
$112,000

Deferred tax asset at the end of 2007
$  76,000


Deferred tax asset at the beginning of 2007
    16,000

Deferred tax benefit for 2007 (increase in


    deferred tax asset)
$ (60,000)


Deferred tax benefit for 2007
$ (60,000)


Current tax expense for 2007 (Income tax payable)
  112,000

Income tax expense for 2007
$  52,000
(f)
Income before income taxes


$130,000d

Income tax expense



Current
$112,000



Deferred
   (60,000)
    52,000

Net income


$  78,000

dPretax financial income

$
X



Excess rent collected over rent earned
  150,000


Taxable income [from (e) above]
$280,000

Solving for X:
X + $150,000 = $280,000  X = $130,000 pretax financial income.

